
www.okonomi-deler.no   post@okonomi-deler.noPrisliste finne du på www.okonomi-deler.no 177

Ford New Holland

5049

80 81 868682

90

65
71 7270

60 62

45

100106 105 104

103102101

x

17

16

9

10

1

2

16

17

11

3

41 46

92

9674

AE1-159
Traktor: Ford 2610, 3610, 4110 & 4610 fra 4/84
Aksel: Carraro AE1-159



178 Tlf: 69 10 23 00   Fax: 69 14 08 24

Ford New Holland AE1-159
3910, 4110, 4610  Fra 04/1984
Aksel: Carraro AE1-159

Pos Varenummer Kommentar
1 FG 3930110 Styrekule venstre 4-84/8-84
1 FG 3930054 Styrekule venstre 9-84/2-90
2 FG 3930109 Styrekule høyre 4-84/8-84
2 FG 3930053 Styrekule høyre 9-84/2-90
3 FG 3946579 Styretag langs siden 4-82/2-90
9 FG 3930554 Foring ytre

10 FG 3930062 Foring indre
11 FG 3944351 Trøsteskive
16 FG 3944350 Simmering
17 FG 3982416 Lager
41 FG 3930287 Mutter
45 DD 6214-2RS Lager
46 FG 3930139 Pakning
49 FG 3930318 Lager
50 FG 3944423 Simmering 80 x 110 x 16
60 FG 3930554 Foring ytre
62 FG 3930343 O-ring
65 FG 3930334 Lager
70 DD 6307-2RS Lager
71 FG 3930309 Simmering
72 FG 3930144 Simmering
74 FG 7421144 O-ring
80 FG 3930144 Filtring 35 x 50
81 FG 3930309 Simmering
82 FG 3930156 Foring
86 FG 3930383 Kryss 27 x 74,6
90 DD 6207-2RS Lager
92 FG 3930305 Simmering
96 FG 3947488 Lager mellomaksel

100 FG 3930329 Lager
101 FG 3930331 Lager
102 FG 3930327 Lager
103 A10337 Mutter pinjong
104 FG 3930407 Trøsteskive
105 FG 3930408 Plate
106 FG 3930409 Drivplate

FG 3947053 Pakning oppheng
FG 3937357 Trøsteskive bakre
FG 3944418 Knokkelhus h-v
FG 3930270 Mutter kingbolt og nav

3910, 4110, 4610  Fra 04/1984
Aksel: Carraro AE1-159

FG 3944422 Pinnebolt kingbolt
FG 3945602 Stubbaksel
FG 3944339 Kronhjul og pinjong Z8/31
FG 3930405 Bolt kronhjul

A10298 Låseskive pinjong
MF 339469 Låsering drivaksel M35
FG 3944345 Drivaksel ytre h-v
FG 3944346 Kryssholder
FI 11067776 Låsering drivaksel M29
FG 3934984 Drev drivaksel
FG 3930081 Pinnebolt nav M14x52mm
FG 3930082 Mutter nav M14x1,5mm
FG 3930302 Låsering nav
FG 3930137 Låsering ringgear
FG 3930114 Drev ringgear
FG 3930131 Skive nav
FG 3930113 Ringgear
FG 3934495 Holder f/soldrev
FG 9515003 Bolt holder M10x1,5 x 30

A10294 Tappeplugg holder M22 x 1,5 
FG 3930138 Skive soldrev
FG 3930112 Drev solgear
FG 3930133 Skive soldrev
FG 3930135 Nålerullesett (10stk) 24stk.pr.drev
FG 3934741 Bolt soldeksel 20,88mm
FG 0122056 O-ring soldrev
FG 3937350 Drev Z27 nedgearing foran
FG 3944392 Drev Z25 nedgearing foran
FG 3983485 Mellomaksel
FG 2958885 Hylse mellomaksel

UC 207 Lager F/FG 3947488
FG 3946832 Drev Z32 pinjong
FG 3944304 Lager pinjong
FG 3946627 Simmering 35 x 50 x 10 droppboks

DD 6207-2RS Lager droppboks
FG 3944401 Pakning droppboks
FG 3937390 Pakning droppboks

FG 3930110

FG 3930054

FG 3930109

FG 3930053

FG 3946579

FG 3930554

FG 3930062

FG 3944351

FG 3944350

FG 3982416

FG 3930287

FG 3930319

FG 3930139

FG 3930318

FG 3944423


